MTH125 College Algebra Unit 5 Hw Name

REVIEW UNIT 5 DAY 2 NO CALCULATOR
FREE RESPONSE QUESTION 2

Consider the logarithm functions below to answer the following questions.

f(x) =—-2+In(6+ 3x) gx) =2Inx+In(x + 2)

a. For what value(s) of xis f(x) = 3. Leave your answer(s) in terms of e.
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b. ldentify the equation of the vertical asymptote of the graph of f(x). Does the graph lie to the left or
to the right of the vertical asymptote? Show your work and explain your reasoning.
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FREE RESPONSE continued

c. Find the equation of f~1(x) in the form f~1(x) = a - b**° + d . Show your work.

f(x) =—=2+1In(6+ 3x)

x= -2 w (t3y)

X+t2 = \V\ L(O'&&Y) (LUS ":W“)

X+

e =0+ (&P D

=t

e -0 =3y

éex*ﬂ_ 2 = S\?-l()‘s

d. For what value(s) of x does g(x) = In(3x). Show your work.

%70 X2-2
gx)=2Inx+In(x+2)

Jn (32 = DMnx + bn (x#2)

In (32 = s 7t b (x#2)

In (22) 2 lw K (x2)

Ix = K”(x-t’.;)
EY x>+ 2’
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o = K()\a-(- QK"%)
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MULTIPLE CHOICE

8. Which of the following statements is/are true?

Tvol 7:(1[9&
f_'q(sf. l. ]0g3 (%) = —4 ||l logz(ZX_3) =x—-—3 II. logb(W) =§
32
t - = x- 5
(o (2 AT e L Joa, b £ %%
A. 1,11, and llI CK"'B)'[ =~ -3 % < S‘,S
C. Iland lll only
D. land lll only
E. lll only

9. Write the expanded logarithmic expression 3 logx — ilogy + log z in condensed form.

= oncg ~ l%‘fk « (o9 &

X2
= 103<€W5

10. Between what two integers does the value of logs 130 lie?

Sy
S"; =AY /Oﬁglgo S beJvaH 3 @il ('/
g* :Cg?(

11. What is the equation of the asymptote of the inverse function, f~1(x), if f(x) = 2*73 = 5?

A x=3 $ s HA G YT

i.y=33 L hes vAB X =S
»',"y““:':\, '

(D. x=-5

E. y=-5
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f(x) -2.999 | -2.982 | -2.865 -2 4.389 51.598 | ALl -Y—-VM
abot \l‘-“3

®
12. A table of values for the exponential function H(x) = a-b* + k is pictured above. Which of the statements
below is/are true?
l. The graph of H™(x) lies to the right of the vertical asymptote. T rul
—_—

II. The value of k in the equation of H(x) is 52. fOl( X(, £ == 2 CHA‘ C ¥= “3)

T_‘.atﬁﬁn. The argument of H(x) could be (—x —3). ~%®-5 20
~X? 3

P
(;only l ownl B. Iand Ill only x =3 C. lland lll only

D. ll only E. I, land Ill

13. Consider the logarithmic function f(x) = log,(2 — 5x) to determine which of the following statements

is/are true.
2-5% 70
fr‘-((,t!?. l. The value of x = 0 is in the domain of the function f(x). ~sx ?-2
x>l
f ( T The value of f(-1) is between 2 and 3, but closer to 2 \ = 9::.4?
a : ’ RISE loy, (N = 2"
fa( & 1] The graph of f}(x) has a horizontal asymptote at y = _2 =2z
C Theaer mptoteaty=—% § yas 46 x= %

- L2
F7 s MA@ YT

B. land Il only C. llonly

D. lland lll only E. lllonly

14. Solve for x: 2 — e3**3 = 10

Sx*3 . §
-
QS‘AH-'S - - (LC:&P -};n..‘)

m (-8) = Sx+3 (les )

Avouvet wust o grevte- Hw Bero
. No Solutio~
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